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1. Look at the graphs below and answer the following:

What is the degree?
How many zeros does the functton have’?
Describe the end behavior
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3. Find the zeros of Ax) = (x + 2)¢(x + 3¢ and state the multiplicity. A ‘ Tex Kb
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- 6. Find the zeros of y = z(x - 5)(x - 2). Then graph the equation.
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7. Determine which binomial is a factor of - 2x3 + 1471‘ ~ 24x + 20. ﬁi\ﬁ

b. x+20

a. x+5

Find the Foots of the polynomial equation

8. x3 - 2x% + 10x + 136 = 0
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11. Write an equahon for the transformation of x3
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12. Write an equation for each graph below as a transformation from y=x2
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‘3. Given the graph below sfate the following information: —
Zeroes: { *"7; l | Degree: 5 # of turns; __ L
/3  Relative Maximum: \\.‘D\) Relative Minimum: \"‘) -4
~ Absolute Maximun: o) Absolute Minimum: — 00
End behavior: __ X300 -9 —%0 KIeO y -7
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Real zeroes: ‘-'2.: 14 Imaginary zeroes: oine
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4. Given fhe?gmph below s’rafe the following information: '
Zeroes: 4.2, \\\ Degree: al # of turns: f"i
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